

### Kansas Corporation Commission Oil & Gas Conservation Division

1157063

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet  Multiple Stage Cementing Collar Used? Yes No  If yes, show depth set: Feet  If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:  Deepening Re-perf. Conv. to ENHR Conv. to SWD  Conv. to GSW	Chloride content: ppm Fluid volume: bbls  Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec TwpS. R
ENHR Permit #:	County: Permit #:
GSW Permit #:	. 5
Spud Date or Date Reached TD Completion Date or Recompletion Date  Recompletion Date	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY							
Letter of Confidentiality Received							
Date:							
Confidential Release Date:							
Wireline Log Received							
Geologist Report Received							
UIC Distribution							
ALT I II III Approved by: Date:							

Side Two



Operator Name:				_ Lease N	lame:			Well #:		
Sec Twp	S. R	East	West	County:						
INSTRUCTIONS: Sh time tool open and clo recovery, and flow rate line Logs surveyed. A	osed, flowing and shu es if gas to surface te	t-in pressures, st, along with f	whether sh inal chart(s	nut-in press	ure reach	ed static level,	hydrostatic pres	sures, bottom h	ole temp	erature, fluid
Drill Stem Tests Taker (Attach Additional S		Yes	No		Log	y Formation	n (Top), Depth a	nd Datum		Sample
Samples Sent to Geo	logical Survey	Yes	No		Name			Тор	I	Datum
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Copy	d Electronically	Yes Yes Yes	☐ No ☐ No ☐ No							
List All E. Logs Run:										
		Report all	CASING I		New	Used mediate, producti	on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)		Weigi Lbs. /	ht	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
		AI	DDITIONAL	CEMENTIN	G / SQUE	EZE RECORD				
Purpose:         Depth Top Bottom         Type           — Perforate         — Protect Casing           — Plug Back TD         — Plug Off Zone		Type of Co	ement	# Sacks Used			Type and	Percent Additives		
Shots Per Foot PERFORATION RECORD - Bridge Plug Specify Footage of Each Interval Per			Bridge Plugs Interval Perfo	s Set/Type orated	Set/Type Acid, Fracture, Shot, Cement S ated (Amount and Kind of Mate					
TUBING RECORD:	Size:	Set At:		Packer At:		Liner Run:				
Date of First, Resumed	Production, SWD or EN		ducing Meth	od:		as Lift C	Yes No	0		
Estimated Production Per 24 Hours	Oil	Bbls.		Mcf	Water		ols.	Gas-Oil Ratio		Gravity
DISPOSITIO	ON OF GAS:		M	IETHOD OF	COMPLET	ION:		PRODUCTIO	ON INTER	VAL:
Vented Sold	Used on Lease	Open	Hole Specify)	Perf.	Dually (		nmingled mit ACO-4)			

# CONSOLIDATED Oil Well Services, LLG

### **REMIT TO**

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 Fax 620/431-0012

CARROLL ENERGY LLC P.O. BOX 766 INDEPENDENCE KS 67301 (800)917-1618 FLOYD B #P2 41434 04-25-13 KS

W		==========	=========	========	=========	=======
Part N	<b>Jumber</b>	Description		Qty	Unit Price	Total
1131		60/40 POZ MIX		105.00	13.1800	1383.90
1118B		PREMIUM GEL /	BENTONITE	722.00	.2200	158.84
1107A		PHENOSEAL (M)	40# BAG)	105.00	1.3500	141.75
1126A		THICK SET CEME	•	125.00		2520.00
1110A		KOL SEAL (50#	BAG)	625.00		287.50
1107A			40# BAG)	125.00	1.3500	168.75
1123		CITY WATER		3000.00	.0173	
		•		3000.00	.01/3	51.90
	Description			Harry	TT-14 D. I	
	TON MILEAGE DE	r.Tvpbv			Unit Price	Total
	CEMENT PUMP	DIVERI		284.75	1.41	401.50
		. CT (01		1.00	1085.00	1085.00
	EQUIPMENT MILE		* · ·	50.00	4.20	210.00
	TON MILEAGE DE			284.75	1.41	401.50
637	80 BBL VACUUM !	FRUCK (CEMENT)		4.50	90.00	405.00
						200.00

Parts: 4712.64 Freight: .00 Tax: 391.15 AR 7606.79
Labor: .00 Misc: .00 Total: 7606.79

Signed\_\_\_\_\_\_ Date\_\_\_\_\_





LOCATION Euroka

SALES TAX

**ESTIMATED** 

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

Ravin 3737

## FIELD TICKET & TREATMENT REPORTS

520-431-9210	or 800-467-8676	5		CEMEN	IT		some Has	<b>3</b>
DATE	CUSTOMER#	WELL N	AME & NUME	BER	SECTION	TOWNSHIP	RANGE	COUNTY
4-25-1 3 CUSTOMER	2042	Flord B	EP2					c a
Carroll	Energy A	<u>// c</u>		4	TRUCK#	DRIVER	TRUCK#	DRIVER
					485	Alun m	<del> </del>	
200 A	co Place	STATE Z	IP CODE	-	205	Steve 12	qu's	
		ł I			479	Colby	-	<b>-</b>
Znd.px	ndence		7301		437	Jin_		
	O willess				12090'	CASING SIZE &		<u> </u>
ASING DEPTH	2075	DRILL PIPE		_TUBING			OTHER	•
LURRY WEIGI	- <b>1</b> T	SLURRY VOL DISPLACEMENT P	<u> </u>	WATER gal/s ► /Sumi	sk	CEMENT LEFT in	n CASING	
SPLACEMEN	T.53%	DISPLACEMENT P	SI <u>\&amp; &amp;\</u>	MIX-POI Plu	23001	RATE		
FINDLAIG. 3	1 - 7 7 M/MER [ ] ]	Le Die up	7072	Casina	/5 rea/\ \	TECHTOLICE	7 W//~/~	sh WoTer
ump 10	ppp mater	ahead. 1	NIX YO	ssks 6	WHO POZ	mix 14/85	10 Gel 1	1 # Phene
		w/ 125 sk						
		ump + Linus						
34 661	Frash wate	s. Finalp	amping	Prossu	No 1800	* Bump	Plux 230	20°=2
Wait 1	min Rale	ase Press	ure	Plux An	dela Go	ad cemen	ReTURN	70
rface	7661370	Pit.	JabCo	molete	Rinder	rn		
o. Furnts	h Lotchdun	n pluy.	2 hon	K You	•			
ACCOUNT CODE	QUANITY	or UNITS	DE	SCRIPTION o	f SERVICES or Pl	RODUCT	UNIT PRICE	TOTAL
1401	1	PI	UMP CHARG	E			108500	108500
1466	50	М	ILEAGE				4.20	210.00
1/31	1055ks		20/46	Pazmix	CemenT		13.18	1383.90
1183	7225		Sel 82		- CSII (CI) I		.22	158.84
107A	105 8			al 15	a cler	· · · · · · · · · · · · · · · · · · ·	1.35	141.74
7975	,-5		nanos	<u>a</u> ,	7el/ 3 V		7.35	1771.15
11264	125 sks		ブム:	et Cem	2005		20.16	2420-
	625*						I	2520.0
1120-A		**		1 5 to			.46	287.5
//07 A	125*		rhenos:	enl 1 = po	EVSK.		1.35	168.75
54078	1/20 -		<u> </u>	0 11	<u> </u>	2 47e+		002
540751	11.39 7	<b>5</b>	a nmi ko	ye Daik	Truck 50	c1/7	1.41	803.00
55020	4/2 455		FO L 12	1166	- / a la		80.00	1100
1123					Truck		90,00	405.00
· · · · · · ·	3000 50	TOY?	CITY WY	arr.	<u> </u>		1236	51.90
							<del> </del>	
		<del> </del>					-11	70.00
							SubToTal	1 <i>7215.</i> 64

AUTHORIZTION TITLE DATE

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.